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© 24x+18 @ 49xy +28)°

® 15x*+ 25x @ 16ab—12a

® 8x*—32xy ® 12ax+24a

@ 25ab+10bc 27x% — 18x)”

©® 6a’b+ 36ab®>—48ab 27ab +9a

@ 36x%*— 6x%y @ 104’ - 25ab*— 15ab
@ 244’ —40ab*+ 16abc 28x%° + 12x%*

® 27a°h—63a’h*—45ab’ 24a°b? — 16a%b* — 644’
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O 24x+18 @ 49xy +28)°
=6(4x+3) =7y (7Tx +4y)

@ 1bx*+25x @ 16ab-12a
=5x(3x+5) =4a(4b-3)

® 8x*—32xy ® 12ax+24a
=8x (x — 4y) =12a(x+2)

@ 25ab+10bc 27x*y — 18xy”
=5b(5a + 2¢) =9xy (3x—2y)

@ 6a’b+ 36ab®—48ab 27ab +9a
=6ab(a+6b—8) =9a(3b+1)

@ 36x**—6x% @ 10a®*b—25ab*>— 15ab
=6x" (6xy —1) =5ab(2a—5b—3)

@ 24a’h—40ab’+ 16abc 28x°y* + 12x%°
=4ab(6a—10b + 4c) =4x**(Txy + 3)

@® 27a°b - 63a’b* — 45ab’ 24a°b* — 16a’b® — 64a°b*
=9ab (3a*— Tab — 5b?) =8a’*(3a—2b—8)

BREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © LD R



